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F)=r =1/\g(1)m-}=—-“1 Hermed vist
b)

4 1
A, = Exzdx+ _[ldx={ﬁ—3} +[1n|x]]f = (£—0J+(1n(4)—0)= %+2ln(2) = 1,72
1 X > Jo 3 R

c)
2 4 57 4
) 1 1 X 1
V.y=7l{x"}) de+nm (——J de=m|x'dc+m ——;dx:ﬂ:l:—} +7z[——] =
w2 den ] [¥aeen ] |
z((l—0)+(—l+1D=£z =298
5 4 20
d)
I ] 1 4 x41 .
Vs =27 |x xszc+27rjr-—dxm2n'jx3dx+2ﬂ.|'dx: 277:[—J +277:[x]E =
0 1 X 0 H i
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Opgave 2
a)

dy _ cos (x)

e 5 , x€e R, y>0e
2y

J‘,’Zydy:fcos(x)dxwtk] , ek ,y>0s

v =sin(x)+k , keR ,y>0&

y=ysin(x)+k , keR , sin(x)+k >0

b)
a =f’(0)=ﬁ(o 3)=€*+3-3=1+9=10
‘ e
y—F(0)=c,(x-0)o y-3=10(x-0) < y=10x+3

c)

g(x)=e"sin(x)= g'(x)=¢"sin(x)+e" cos(x)

% =e¢*cos(x)+y = ¢"sin(x)+e" cos(x)=e" cos(x)+e"sin(x) < 0=0

Hermed vist

[
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Opgave 3
S U
(o) o G oo (] %] o
y) (In(r) y 1 y 1
¢ I
a)

x=0eVi-2=0oVt=261=4 (x,y)=(0,2In(2)) = (0;1,39)

y=0on(r)=0cr=1= (x,y)=(-1,0)
b)

=0 —=01=0tcd

1
N

[\

y’=0<:>%=0<:>1=0<:>te@ Hermed vist

c)

(OG) G- e

d)
1 L
CoyE] o

('S



- Ty

Lasningsforslag

Matematik A 14. december 2005
BRI R
W2 || 82

)| s
2 \_Z 2 4__3_9_§"
oL
16

cosé(;(Z),a(2))= 1 <= K
242 |l 82 \/ 578" 3V128
Lol _L
2 4
_32
3 \733 =3 jg ~0,9623 = 4( v(2), a(2))~164 21°  (Spids vinkel : 15,79%)
32

)

(;JD[J 2\[ ( j e oJ 0o ,)\/—‘@’)xfmt@

I4
Wi-1=0e Vi(2-V)=0@1=0vi=2e1=0vi=4 (1>0)

Den segte tangent findes altsa for =4 :

o) {amte)

A G-l )
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Opgave 4
a)
1-0 1 ~1-0
AB=|-2-2|=(~4| ; AC=| 0-2 |=
1+1 2 3+1
-4 -2
2 4
—-16+4 -12
- — — 2 4
g =ABx AC = !1 ll =i —2—4 i=| - [=-6]|1
24 —6
ll -1
-4 —2)

-2-3 =5
rm=P0=| 142 |=[ 3 | m
1-0 1

¢)
0

;n=5/]= 2 N ;;ﬂ;mx;nz
-1

(W8]

2

100

-5
-5
-10

| =P+ 22 =6 ; n-OP=1-341-(-2)+2-0=3-2+0=1

wh
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¢) fortsat
o
ist(m,n)= W _E

d)

He

T=1|A_B—><E‘=l
2 2

0 10,60

L g4 =3
P
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Opgave 5
a)
M2 Mo _ i u_2.x47 2 2
~=—x {dx = (2x z—xz)dx=[2-2x2——‘c3} =4.3->.9 3—[4——-]=
A\ x : C 3 3
2 28
12~18~4+>=-""=-933
2 2

b)

fx_%- In(x)dx = 250 In(x)- ‘[l 2ty = 24/x In (x)- _[2x_%dx =
x

2xIn(x)-4x" +k = 2xln(x)-4Jx +& , keR

X

idet (ln(x))'=l og fx_yldx=2x
X

c)

f-i—l\/?(H\/;)_s dx = Jr‘sdr:—%t”z+k=~%(1+x/;)m2+k=
———‘1—2+]€ ) keR

2(1++x)

] dr 1 1
idet t=l4vx => 2 =" o df = —n .
de  2Jx 2Vx



